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Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of seventy five multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

Your responses to the question of Paper Il are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.
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9. You have to return the test OMR Answer Sheet to the invigilators
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POLITICAL SCIENCE
Paper -l

Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Who among the following made the 4. Assertion (A) : Lenin believed in strong
statement “If political theory is systematic Vanguard party.
disciplined investigation of political
problems, then it is difficult to say that Reason (R) : It has the capacity to
political theory was dead in 1950s and compromise with the static
1960s” ?
Codes :

(A) Issah Berlin

(B) John Rawl (A) (A)is false but (R) is correct
ohn Rawls

(C) Sabine (B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(D) Karl Popper
(C) Both (A) and (R) are true and (R) is

2. Who among the following has advocated the correct explanation of (A)

the ‘Virtue is knowledge’ ? _ _
(D) (A)is correct and (R) is false.

(A) Socrates

(B) Plato 5. Which among the following work,
statement is found argued ? “ldeology
is a process accomplished by the so
(D) Stoics called thinker. Consequently it is true
but with a false consciousness”.

(C) Aristotle

3. Who among the following stated, “the (A) Marx’s work, “Poverty of

division of labour created castes” ? . "
Philosophy

(A) Ambedkar (B) Engles “Letter to Mehring”

(B) Weber (C) Marx’s work, “Economic and
(C) Karl Marx Philosophical Manuscript of 1844”
(D) Hopkins (D) Marx on “Anti — Durhing”
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6. Match List | with List Il and choose the
correct answer from the codes given

below
List-1 List-II
Author Books
a) John Rawls i) The End of
Poverty
b) Martha i) The Idea of
Nassbaum Justice
c) Amartya Sen  iii) Justice as
Fairness
d) Jeffry Sachs iv) Sex and

Social Justice

Codes :

a b c d
(A) i ii iii iv
(B) i iii ii iv
(C) iii iv ii i
(D) ii iii iv i

7. How many types of ‘Alienations’ that
Marx identified in his book, “Economic
and Philosophical Manuscript of 1844” ?

(A) 5
(B) 4
(C) 6

(D) 7

K-0513

Total Number of Pages : 32

8. Assertion (A) : Liberalism has become
a strong ideology in recent years.

Reason (R): It believes in the primacy of
the state.

Codes :

(A) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A)is false but (R) is true

9. Which among the following is identified
with fascism ?

(A) Marxism
(B) Socialist nationalism
(C) Radical authoritarian nationalism

(D) A Liberal nationalism

10. Who among the following wrote the book
“The Annihilation of Caste in India” ?

(A) Gandhi
(B) Nehru
(C) Ambedkar

(D) Lohiya
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11. Assertion (A) : Gandhi believed that
‘Man as animal in violent, but in spirit is

non-violent”

Reason (R) : Gandhi believed in the

innate violent character of man.

Codes :

(A) Both (A) and (R) are true but (R) is

not the correct explanation of (A)

(B) Both (A) and (R) are true and (R)

is the correct explanation of (A)
(C) (A) is false but (R) is true

(D) (A) istrue and (R) is false

12. Who among the following three
influenced the most Gandhi in his
life, as explained by him in his book

‘My Experiment with Truth’ ?

(A) Tolstoy, Ruskin, Gokhale

(B) Gokhale, Tolstoy, Rajchandra
(C) Rajchandra, Gokhale, Ruskin

(D) Tolstoy, Ruskin, Rajchandra

K-0513 @
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13. Which among the following book was
not written by Lenin ?

(A) What is to be Done

(B) The Development of Capitalism
in Russia

(C) Eighteenth Brumaire of Louis
Bonaparte

(D) Two Tactics of Social Democracy

14. Identify the books written by M. N. Roy in
chronological order.

(A) India in Transition

(B) India: Its Past, its Present and the
Future

(C) The Voice of India

(D) Congress at Crossroads

Codes :

(A) A,B,C,D
(B) A, C,B, D
(C) C,B,A,D
(D) D, B, A, C

15. Which among the following is not a part
of libertarian socialism ?

(A) Green liberalism
(B) Collectivist socialism

(C) Anarcho communalism

(D) Guild socialism

Paper Il
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16. Who among the following wrote, “End of
History” ?

(A) Samuel P. Huntington
(B) Hardly Bull
(C) Thomas Friedman

(D) Francis Fukuyama

17. Assertion (A) : Political development
theory helped in dissemination of
democracy throughout the world .

Reason (R) : It believed in restricting the
democratic spaces

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is true and (R) is false

(D) (A) is false but (R) is true

18. Which among the following country does
not have federal system ?

(D) India

K-0513
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19. Assertion (A) : Realist believed that state
power is the only variable of interest.

Reason (R): Itis through power that state
can defend themselves.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) (A)istrue and (R) is false

(C) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(D) (A)is false but (R) is true

20. Which among the following is not a
modern approach ?

(A) Social approach
(B) Behavioural approach
(C) Statistical approach

(D) Legal approach

21. Who among the following said, “there are
many men of principles in both parties
and politics in America but there is no
party of principles” ?

(A) James Madison
(B) Jafferson

(C) Alexis de Tocqueville

(D) Woodrow Wilson

Paper Il
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22. Constitutionalism is intimately related to
(A) The party system
(B) The form of government
(C) Separation of power
(D) Rule of law

23. Given below are two statements, one
labelled as Assertion (A) and other
labelled as Reason (R). Select the
correct answer from the codes given
below.

Assertion (A) : Coalition politics is
inevitable in India.
Reason (R) : This is because Congress
domination has declined.
Codes :
(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false
(D) (A) is false but (R) is correct.

24. Assertion (A) : Modernization theory has
been used as guidelines for rapid
development of developing countries.

Reason (R) : It is identified with
Westernization.

Codes :

(A) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(B) (A) is false but (R) is true

(C) (A) is correct but (R) is false

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

K-0513
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25. Who wrote the book ‘The Congress
System in India’ ?

(A) Rajani Kothari
(B) Baviskar
(C) Gopal Krishna
(D) A. R. Tyagi
26. Assertion (A) : Introduction of

Panchayathi Raj System is meant to
encourage the participative democracy.

Reason (R) : Grama Saba is an example
for that.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (B) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

27. The President of India has the Veto
Power on

(A) Money Bill
(B) Ordinary Bill
(C) Any Bill

(D) State Bill
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28. Who among the following started the
magazine ‘Arya’ ?

(A) Dayananda Saraswathi
(B) Aurobindo Gosh
(C) Bankim Chandra Chatterjee

(D) Lala Lajpat Rai

29. Match List — | with List — Il and choose
the correct answer from the codes given

below.
List -1 List—1I
Authors Books
a) Sharmila Rege i) Dalit Phobia :
Why do they
hate us
b) Elenor Zilliot if) Writing Caste,
Writing
Gender :
Reading Dalit
Women
Testimonies
c¢) Gail Omvedt iii) From
Untouchable
to Dalit
d) Chandra Bhan iv) Reinventing
Prasad : Revolution
Codes :
a b c d
(A) ii iii iv i
(B) iii i iv i
©) iv i iii i
(D) [ i iii iv
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30. Whose prior approval is essential to
introduce Finance Bill in Parliament ?

(A) President
(B) Prime Minister
(C) Speaker

(D) Vice-President

31. Which one of the following is the largest
Committee of Indian Parliament ?

(A) The Public Accounts Committee

(B) The Committee on Public
Undertakings

(C) The Committee on Petitions

(D) The Estimate Committee

32. Under whose recommendation the
formation and creation of the Constituent
Assembly was undertaken prior to the
Independence ?

(A) Cripps Mission
(B) Cabinet Mission
(C) Mount Battan Plan

(D) Nehru Plan
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33. B33BNT OINT DR DTV 03PN WO
ﬁdﬁéd e30300Me00N BOWEF S0 ?

(A) 2000
(B) 1999
(C) 1997

(D) 1993

34. TPFFN .00 TET WGOT TORS
AT B T30 B3 FSNS CIRFTT
ST o6 RRBTS 2

(A) BoR08
(B) Q5o =
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(D) ®ogemoore
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Rodesnsd

(A) (A) 33 (R) aS&2 70 moris (A) i
(R) R003RT DFTH

(B) (A) 333 (R) 253» 50 33 (A)
(R) R00InE m0RoDHe.

(C) (A) R0 =nia (R) 37
(D) (A) 3% =ori» (R) B0
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33. Which among the following years the
Election Commission became Multi
Member Commission ?

(A) 2000
(B) 1999
(C) 1997
(D) 1993
34. Generally the Legislative Council of a

state is created or abolished on the
recommendation of that state by

(A) Chief Minister
(B) Legislative Assembly
(C) Governor
(D) Council of Ministers
35. Assertion (A) : Term of Governors

office goes with the pleasure of
President of India

Reason (R) : Governor is appointed by
the President of India.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false

(D) (A) is false and (R) is correct
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36. Which among the following procedural
arrangement was followed while
appointing K. C. Reddy as the Chief

Minister of the then Mysore state ?

(A) Nominated to head interim
government by the then Mysore

Congress

(B) Nominated by the Maharaja of

Mysore
(C) Elected by the people
(D) Nominated by the High Command
37. The total strength of the Legislative
Council in a state consist of

(A) Half of the strength of the total
membership of the State

Legislative Assembly

(B) Equal to the strength of State

Legislative Assembly

(C) One third of the strength of
Legislative Assembly but it should

not be less than 40

(D) One third of the strength of the
Legislative Assembly but it
should not be less than 60
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38. Match List — | with List — Il and select the
correct answer from the codes given

below.
List—1 List-1I
a) Governor 1) Article — 44

b) Legislative Council 2) Article — 23
c¢) Uniform Civil Code 3) Article — 163(2)

d) Right against 4) Article — 172(2)

exploitation
Codes :
a b c d
(A) 3 4 1 2
(B) 2 1 3 4
(C) 3 1 2 4
(D) 1 3 4 2

39. Assertion (A) : President is part of the
Parliament

Reason (R) :Because he is elected by
the Parliament

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false

(D) (A) is false but (R) is true
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40. Assertion (A) : Through 74

Constitutional Amendment urban
local governments got the constitutional
status.

Reason (R) : Informally it was expressed
in Balawanth Roi Mehatha Committee
Report

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false
(D) (A) is false but (R) is correct

41. Who among the following is better
known as Father of Community
Development Programme ?

(A) S. K. Dey (B) S. K. Ray
(C) Mehatha (D) S.S. Ray

42. Assertion (A) : Public Administration is
essential for all the nations.

Reason (R) : Because Public
Administration is necessary to run the
Government.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false

(D) (A) is false and (R) is true
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43. Rule of Law concerns with
(A) Popular control
(B) Legislative control
(C) Judicial control

(D) Executive control

44. Match List — | with List — Il and select
correct answer from the codes below :
List—1 List=1I

a) Behavioural
approach

1) Descriptive

b) Systems approach 2) Evolutionary
c) Historical approach 3) Interdisciplinary

d) Constitutional 4) Scientific
approach
Codes :

a b c d
(A) 4 3 2 1
(B) 1 2 4 3
(©) 3 2 4 1
(D) 4 1 3 2

45. Who among the following identified
classical theory with technical
approach ?

(A) Urwhik
(B) Goulik
(C) Fayol

(D) Moone

K-0513
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46. Assertion (A): The essential element of
decentralization is the delegation of
power.

Reason (R) : Decentralization may be
political or administrative.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

47. Max Webber’s Bureaucracy is based on
(1) Political perspective
(2) Social perspective
(3) Economic perspective

(4) Cultural perspective

Codes :
(A) 1 and 2 are correct
(B) 1 and 3 are correct

(C) 2 and 3 are correct

(D) 2is correct
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48. Assertion (A) : Hathrone study helps the

Human relation theory of organisation.

Reason (R) : The result of the study has
not explained the frame work of scientific

theory.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is

not the correct explanation of (A)
(C) (A)is correct but (R) is false

(D) (A)is false but (R) is correct

49. Whose initiative merit system of

recruitment was introduced in India ?
(A) Lord Curzan

(B) Lord Macauly

(C) William

(D) Bentic

K-0513
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50. Who among the following advocated ‘The
Doctrine of Politics and Administration

Dichotomy’ ?

(A) Henry Fayol

(B) F. W. Taylor

(C) W. Wilson

(D) Symon

51. Assertion (A) : Both human resource

development and management are

important in personnel administration.

Reason (R) : The concept of human
resource development is the outcome of

human resource management.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is

not correct explanation of (A)

(C) (A) is true but (R) is false

(D) Ais false but (R) is true

Paper Il



. ““Ro0dReE0300 BoFPLR 0% Temo
3% ' 0T SLATRD

(A) =3

(B) 0. . TodeF

(C) Omers

53. ZRITI RAOWOH %m@oé@ f&dd}i Tz
(1) Z20e03 203nLd
(2) TBNT o
3)

(4) BINTT 203N
Boge3ned

(A) 2 3584 RocIRATS

SOFT L0DNWD

)
(B)
C) 3 =024 BocIRNT
) 1,3 302 4 ROCIRNG

1 30 2 RocIHNGS

(
(D

54. 332508 AT BN, ‘TR FoPUT
ATROBTOTY” 03393 FEEH 2

(A) BROT* 0= nroea
(B) BRom 0=y dwoee
(C) Swes &03) WToF &

(D) Smee e FRF

Paper Il

Total Number of Pages : 32
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52. ‘Co-ordination is the first principle of
organisation’ who said this ?

(A) Moone
(B) M. P. Palet
(C) Likert

(D) Symon

53. Human Relation Theory tells about
(1) Physical factors
(2) Social factors
(3) Economic factors

(4) Psychological factors

Codes :
(A) 2 and 4 are correct
(B) 1 and 2 are correct
(C) 3and 4 are correct

(D) 1,3 and 4 are correct

54. Who said that scientific management is
a ‘psychological organisation theory’ ?

(A) Symon and Argaries
(B) Symon and Likert
(C) March and Barnod

(D) March and symon
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55. Assertion (A) : The budget should be

56.

prepared on the basis of gross
estimates and not on net estimates

Reason (R) : It reflect the Parliamentary
control over public

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) Ais false but (R) is true
Match List — | with List — Il and select the

correct answer from the codes given
below.

List—1 List—1I
Books Authors
a) The Bureaucratic 1) J. D. Millet
Phenomena
b) Government and 2) Michel
Public Administration Crozies

c) Beyond Bureaucracy 3) Gordon

Tullock

d) The Politics of 4) Warren

Bureaucracy Bennis
Codes :

a b c d

(A) 2 1 4 3

(B) 1 2 3 4

C) 4 3 2 1

(D) 3 1 2 4
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57. Match List — | with List — Il and select the
correct answer from the codes given

below :
List-1 List-1I
Authors Books
a) Rajani Kothari 1) Public

Administration

b) C. P. Bombri 2) Caste and
Politics in
India
c¢) Mohith 3) Working of a
Bhattacharya Democratic
Constitution :
Indian
Experience
d) Granville Austin  4) The Indian
States
Codes :
a b c d
(A) 2 1 4 3
(B) 3 2 1 4
©) 1 2 3 4
(D) 4 1 2 3

58. Assertion (A) : March and Symon
explains that classical theory is a
mechanical model

Reason (R) : Classical theory is
traditional oriented.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false
(D) (A) is false but (R) is true

K-0513
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59. Match List — | with List — Il and select the
correct answer from the codes given

below.
List—1 List—1II
a) Rural Local 1) Home
Governments Ministry

b) Contonment Board 2) Ministry of
Rural
Development
c¢) Urban Local
Government

3) Defence
Ministry
d) Local Governments 4) Ministry of

in Central Territories Urban
Development

Codes :
a b c d
(A) 1 2 4 3
(B) 4 3 1 2
(C) 2 3 4 1
(D) 3 4 2 1

60. Assertion (A) : Public administration
can be successful if it is accessible to
its citizens

Reason (R) : Redressal of grievances
of citizens is rendered easier by close
contact between citizens and
administration.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is true but (R) is false
(D) (A) is false but (R) is true
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61. Which among the following school is
identified with globalization ?

(A) Frankfort School
(B) Chicago School
(C) Australian School
(D) London School

62. Assertion (A) : Globalization is now
increasingly threatening nation-state
system.

Reason (R) : It is difficult to contain
globalization, as it is covering every
aspect of politics and society.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue and (R) is false
(D) (A) is false but (R) is true.

63. Assertion (A) : Conflict Resolution help
people to build mutually supportive and
beneficial relationship.

Reason (R) : It is the best method for
peaceful coordination and existence.

Codes :

(A) Both (A) and (R) are true but (R)
not the correct explanation of (A)
)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

is
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64. Which among the following is the policy
adopted by India with regard to nuclear
issue ?

(A) ‘Rogue’ State Policy
(B) Soft State Policy
(C) No First Use Policy

(D) Pre-emptive Use Policy

65. Assertion (A) : Orthodox Marxist
believed that capitalism is the central
cause for international conflict.

Reason (R) : It is the reaction of non-
capitalist countries to become capitalist.

Codes :
(A) (A) is true but (R) is false
(B) (A)is false and (R) is true

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is

not the correct explanation of (A)

66. Who among the following argued, “when
diplomacy ends, war begins” ?

(A) Morgenthau
(B) Hitler
(C) Naam Chomskey

(D) Mussoloni
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67. Assertion (A) : India has played an
active role in the development of
Afghanistan.

Reason (R) : This is meant to have its
presence in Afghanistan.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Alis false but (R) is true

(C) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(D) (A)istrue and (R) is false
68. Hyde Act means the following
(A) Hyde Park Nuclear Act 2006

(B) Henry J. Hyde United States
Peaceful Automic Energy
Co-operation Act 2006

(C) Hyde Jr. Pact on Nuclear Deal 2006

(D) Henry Hyde Denuclearization Act
2006

69. Assertion (A) : Mao advocated “Long
March” in China.

Reason (R) : It was to evolve the
onslaught of Chinese National Party.

Codes :
(A) (A)istrue but (R) is false

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Ais false and (R) is correct
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70. Which among the following years
Indo-Nepal Treaty of Peace and

Friendship was signed ?
(A) 1951
(B) 1950
(C) 1958

(D) 1960

71. Assertion (A) : India is treated as one
of the original members of the U.N. as it
participated in the San Francisco

Conference in 1945

Reason (R) : This has made India to
claim permanent position in U. N.

Security Council.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(B) Ais false but (R) is true
(C) (A)istrue but (R) is false
(D) Both (A) and (R) are true but (R) is

not the correct explanation of (A)
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72. Which among the following three
countries signed Indian Ocean Security

Pactin 2013 ?

(A) Maldieves, India and Madagascar
(B) India, South Africa, Srilanka

(C) India, Srilanka and Maldieves

(D) Srilanka, Maldieves and South

Africa

73. Assertion (A) : In International relation
theory is central to explain the

dynamics of global politics.

Reason (R) : It covers few issues of

global politics.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is

not the correct explanation of (A)
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74. Assertion (A) :1990’s saw the collapse

of Soviet Union.

Reason (R) : ‘Perestroika’ was the

main reason for its collapse.
Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation
of (A)

(C) (A) is false but (R) is true

(D) (A)istrue but (R) is false

75. Assertion (A) : India justified with holding

gas subsidies to Bhutan.

Reason (R) : Bhutan was increasingly

becoming China’s ally.

Codes :
(A) (A)istrue and (R) is false
(B) (A)is false but (R) is true

(C) Both (A) and (R) are true but (R) is

not the correct explanation of (A)

(D) Both (A) and (R) are true and (R) is

the correct explanation of (A)
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